249 A 1 BHAERT TR & AN

HOTCHR 5 4 T
o A " A H " ” H
T 4 | A p 7 P mpoT 4 | H R 7 % = w7 4 | A K %A % = 3 I A | 8 %A 7 P
B\ 1T H 262 272 295 567 | » WHHT5 T H 544 565 546 L1118 BT 7 T H 1,261 1,552 1,409 2,961 |[f AHT3 T H 224 264 230 494
B W 2T H 365 359 375 734|F » WEHTE T H 384 386 409 795|% M7 8 T H 556 650 634 1,284/ | 4,668 5,074|  5,102| 10,176
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fip T 209 208 208 416\ M 1 T H 816 927 864 1,791 JD BT 3 T H 243 263 261 524[R # 2 T H 116 125 121 246
s My 127 106 118 224k M 2 T H 338 388 411 799\ A BT AT H 776 706 697 1,403k # 3 T H 123 122 104 226
& K Wy 181 214 203 417\ M 3 T H 740 859 899 1,758 (] J0 BT 5 T H 732 714 722 1,436 |18 & A HT 168 152 174 326
#o1m My 421 420 445 865 |4 A 468 442 523 965 |3 3L M6 T H 1,219 1,243 1,253 2,496 |t & 1 T H 51 42 39 81
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B K BT 3T H 209 248 256 504|% F M1 T H 494 430 502 932|145 H 2 T H 1,055 1,071 1, 148 2,219/ & K4T H 216 150 215 365
E W 1T H 705 668 679 L34T| R & #E2 T H 825 770 791 1,561(4 3 T H 871 955 899 1,854|/h& AR5T H 75 78 84 162
E W 2T H 743 824 831 1,655 # #E 3 T H 1, 144 1,105 1,112 2,217|15 # 4 T H 0 0 0 OJE W1 T H 259 172 225 397
E W 3T H 398 491 467 958 F M4 T H 781 669 670 1,339(4 #H 5 T H 172 54 145 19| R 27T H 249 268 254 522
EW4aT H 791 779 884 1,663 |3 & #E5 T H 1,035 935 1,008 1,943 B 5, 095 5, 399 5,522 10,921|2 R 3 T H 228 171 200 371
E W5 T H 535 510 541 1,051 & #E 6 T H 394 424 391 815/Is & 54,751 57,265| 56,559| 113,824 (/) | 1,915 1, 656 1,793 3, 449
E W 6 T H 223 213 244 4571k » /i 1T H 400 409 409 818/ 1 1 T H 340 394 348 T42|R K1 T H 204 158 215 373
E W 7T H 489 498 422 920tk » M 2 T H 771 632 750 1,382 2 T H 406 430 445 875\ A 2 T H 218 216 159 375
E W 8 T H 283 302 288 590 | [ BT 1 T H 340 401 387 788/ 3 T H 459 502 491 993|pk A 3 T H 100 114 105 219
E W9 T H 4 4 4 8|fifi [ BT 2 T H 762 823 815 1,638 (%0 HET1 T H 207 231 224 455\ A 4 T H 57 50 49 99
K HEET1T H 315 326 317 643|Fifi [d BT 3 T H 604 604 551 1, 155(fn H BT 2 T H 288 295 322 617|pk A5 T H 79 70 68 138
K HEET2T H 324 297 286 583 |ffi [ BT 4 T H 448 402 392 94\ 81 T B 173 220 208 428|p A 6 T H 37 44 38 82
K HET3T H 357 408 367 775 Rl 7,998 7,604 7,778| 15,382|HF 4% 2 T H 194 205 237 442|p A7 T H 65 71 68 139
K HBTAT H 309 371 352 723|1% BT 1 T H 1, 209 1,392 1, 308 2,700 (#E 4 3 T H 188 214 207 421|p A 8 T H 89 100 78 178
K HHET5 T H 315 355 353 708|%F WT 2 T H 867 979 862 1,841 4 %6 4 T H 232 260 249 509 |/ G 849 823 780 1,603
T WEHT L T H 648 685 695 1,380 (% T 3 T H 1, 562 1,630 1, 506 3,136(#E # 5 T H 525 605 640 1, 245 |t 88 BT & & 9,012 9, 189 9,335 18,524
T WEHT2 T H 553 571 576 L147T|% BT 4 T H 738 776 799 1,575 4 %6 6 T H 554 647 573 1,220|& 7t 63,763 66,454 65,894 132,348
T WEHT3 T H 404 487 405 892(%r M 5 T H 1,276 1,583 1, 403 2,986 |4l A B 1 T H 367 401 403 804
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